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Jan 11-11:31 PM

1. Determine the value of ~f0.16
a.

0.4 b. 0.07 C.

’b _ i = O.Lt
o0 - 10

d. 0.04

Jan 11-11:34 PM
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2. Calculate the number whose square root is 0.9.
a. 0.81 b. 0.0081

Q\X 1: 0.9
To)=

K:il_

|00

X=0.9)

Jan 11-11:39 PM

3. Which numbers are perfect squares?
i) 30.25
i) 32
iii) 28.9
iv) 1.44
a. landiv b. 1andii
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4. Determine the value of , , % i
a. 6 b. 6 c. 12 d 36
14 7 7 49
Fasd _ a0 _ 6
Jan 11-11:40 PM
5. Name the two whole numbers whose squares are closestto 22.5.
3. 75 b. 4,5 c. 4,9 d. 16,25

{6 215 [as
4 5

Jan 11-11:40 PM
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6. Name the two whole numbers whose squares are closest to

a. 49,64 b. 4,9 ¢. 16,25

5 - 595

|D

M.5 \f?

10°

7,8

Jan 11-11:40 PM

7. Estimate the value of ~/0.35. to the nearest tenth.
a. 0.5 b. 0.6

Jo.s

~C.

0.59

C
0.

|oSeI

Jo 2L

0.9
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8. Asquare has an area of 24.8 cm?.
Determine the side length of the square, to the nearest centimeter.

a. 4.98cm b. 4.9cm c. 5.0cm d. Scm
side= 94y
H-‘-Q‘L'-l‘_
cm
- Had
Neovrest

Cm

S5cm

Jan 12-12:40 AM

9. The lengths of the two legs of a right triangle are 6.7 cm and 3.2 cm.
Determine the length of the hypotenuse to 1 decimal place.
a. 55.1cm b. 5.9cm c. 7.4cm

C'L; 4 b’)'

{C* =J55¢3
REY C= Hdgdum

= L3t 433
oY C'= Yyggd + log

d 3.1cm

Jan 11-11:42 PM
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10. This composite object is made using centimetre cubes. Determine its surface area.
Eﬁ Yoverlaps = Ofoses
a. 24 cm? b. 20cm? ¢c. 15cm’ d. 18cm’
‘E 3| un
LI cubes X b faces
\em 2
A=lwm
= A4 foces — (0 ¥c.££>
- '% -Fo\ttb
X \om®
|Rem
Jan 11-11:42 PM
| 11. This composite object is made of a 15-cm cube on top of a 30-cm cube.
Determine its surface area.
S\"'\(’J‘ “
6(\5(\5\ = \3Socm
15 cm
R ~
— m
L(Boxpy= SH®C
overlwe N
- 0c
e 2igxig) = 190 &M
a. 6750 cm? b. 5625 cm? c. 6300 cm’ d. 6525 cm?
|vG0 F SYoo - 4Se
= 6%00 cm*

Jan 11-11:43 PM
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| .12. This object is composed of two identical cubes joined by a right rectangular prism.
The edge length of each cube is 6 cm.

The rectangular prism is 9 cm long and has square ends of side length 3 cm.
Determine the surface area of the object.

a.

(| —
6cm L} '5 3 ?)
U
9 cm
540 cm? b. 558 cm? c. 522cm? d. 324 cm?

& (C \kbeg + (Rd- prs m) — 2ovex\ueS
12 (0x6) 4y (1D a()4n (1)) - 46D
L{-"a')\c,ml + [ l@ X — fsb s

= SQQ CN‘L

Jan 11-11:44 PM

13. This object is composed of a cylinder of diameter 4 cm and height 14 cm on top of another cylinder of
diameter 12 cm and height 4 cm.
Determine the surface area of the object, to the nearest square centimeter.

4cm

12cm

a. 440 cm? b. 557 cm? c. 561cm? 4 553 cm?
gAzan()) 42 ) (4) R =DPGT +am D)

5o SA= aT@WY)
= 2 s + 130.
Sgﬂ_ i::s SA = 1¥5.8¢

Taz= 3%.8+ 135S . 8Y
963 .6 om-

Jan 11-11:44 PM
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14, This object is composed of a rectangular prism on top of a cylinder.
The rectangular prism has height 8 cm and square ends of side length 4 cm.
The cylinder has diameter 16 cm and height 6 cm.
Determine the surface area of the object, to the nearest square centimeter.

4cm

16 cm

a. 631cm? b. 816 cm? c. 832cm? d. 848 cm?

’Pr?sn ) W4 o grw

Cylhnder
Sp=2T(9) +9 TE() 2 (%) + 2 (8e) f 2 (424

sp= Yolad t 3ol.4y 64 +ey +\22

sa= 033bem- = lob et

0% 036 Floo -3

= 9314 m-

Jan 11-11:45 PM

15. Determine the value of ~/2.89.

199 1+

/ -~

o [0

Jan 11-11:46 PM
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| s — 9
16. Determine the valueof |—. — ——
Al 36 b

Jan 11-11:46 PM

17. Determine the value of Af6x 3x 18.

,‘“3”% or -JT{L

—JBQ"I

Jan 11-11:46 PM
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18. A square garden has an area of 240.25 m?.
a) Determine the length of one side of the garden.

b) Determine the perimeter of the garden.
Side = \‘i 24085

&)
|5.5¢m

\

b)) P= (lS,S} P=15.5+15¢5 +15.5 +15§

ot = [(Lum
= bAm

Jan 11-11:46 PM

19. Determine the value of ~/0.27, to the nearest tenth.

d??‘ Oed
[0 ~ Oe¥o

35 26
loo |00

NS o
lo v

0.5 .5

Jan 11-11:47 PM
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20. Determine the length of the hypotenuse, 4.

c Chzath
1.7cm o C‘L: \:-‘]' _‘_ 3 SL
3.5¢cm

C-= 289+ 125
/ Cﬂ':/ (D .0>

C = Y. %em

Jan 11-11:47 PM

21. Determine the length of side s.

T_ L1t
C o o. = C b
8.8cm x -~ “
= 80‘3 —Set
52 cm = FFYY4 - 21*+.oM
b

J50.y

n

_'}.\ Cm

Jan 11-11:47 PM
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22. This object is composed of a cube on top of a right rectangular prism.
Determine the surface area of the object.

Cube A=bxh
10cm =pX
‘ é! -

15 cm lo p_lo *1o

10 A= looemt
15 cm

30cm “
6h =Loocm

Prism (30, 15,15)

15
A = bxh =
A=bxh A= bxh
A= 30x15 A= 30x15 A= 15x15
_ A= 225
A= 250 A= 450
2A= 900 2A= 450
2A= 900

$a=900 + 900 + 450
= 2250 cm?
Tsa = Cube + Prism - overlap
=600 + 2250 - 200
= 2650 cm?

Jan 11-11:47 PM

3. Determine the surface areagf this composite object, to the nearest square centimeter.
The cylinder has diameter 3 cm and height 4 cm.

The prism has length 10 cm, width 9 cm, and height 9 cm.

— CyModex i
e Sa= PRF ek
e SA=3A (1 +Am(g)(+)
sas Pt 33l
e SA = 5). 8l et

Prism (10, 9,9)
10| 2 | 10| 2 | 9

9
A=bxh Azbxh A=bxh
A= 10x9
A= 10x9 A=9x9
A=90 A=81
A=90
2A= 180 2A= 162

2A= 180
sa=180 + 180 + 162

=522 cm?
Tsa = Cylinder + Prism - overlap
=50.81 + 522 -14.13
= 559.68 cm?

Jan 11-11:48 PM
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. This object is composed of two identical cylinders connected by a right rectangular prism.
Each cylinder has diameter 18 cm and height 4 cm.
The rectangular prism has length 8 cm and square ends of side length 2 cm.
Determine the surface area of the object. Give your answer to the nearest whole number.

4cm

QCUPM)('-‘-
U [ — Sa= ATk
— SA=37(9 Frame))
sp= GSozy¥ ileo
SA= 34536
K

\L\Lsﬂ.gl -

Prism (8, 2,2)

2
A=bxh A= bxn A=bxh
A=8x2 Aoxz A=2x2
A=16 A=4
A=16
2A= 32 2A=8
2A= 32
sa= 32+ 32+ 8
=72 cm?

Tsa = Cylinder + Prism - overlap - overlap
=1469.52+72 -8-8
= 1525.52 cm®

Jan 11-11:48 PM

January 17, 2020

25. Determine the va

lue of ~/6.47+7.36+ 17.53.

J 3136

= bl

Jan 11-11:48 PM

13
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26. Determine the value of J

:..
31 + 449
196 - Af100
9+x |1
[4 -\0 N 1
~ 4
L

Jan 11-11:49 PM

B

C

21.3cm

C

27. Determine the length of the diagonal AC of rectangle ABCD, to the nearest centimeter.

b Q‘L;G‘t"'b‘l_

: Ch= (Ld) o)

Cz = 45049 + 0l.L4

W:&SS.EB
C = 25.(00"\

Jan 11-11:51 PM

January 17, 2020

14



January Exam 2013 Review - Unit 1_ANS.notebook

January 17, 2020

35cm

28. Determine the values of s and /. Show your work.

6.7 cm

44 cm

Jan 11-11:51 PM

Unit 1 Review for January Exam
Answer Section
MULTIPLE CHOICE
PTS: 1 DIF: Easy REF: 1.1 Square Roots of Perfect Squares
LOC: 9.N5 TOP: NumberKEY: Procedural Knowledge
PTS: 1 DIF: FEasy REF: 1.1 Square Roots of Perfect Squares
LOC: 9.NS TOP: NumberKEY: Procedural Knowledge
PTS: 1 DIF:  Moderate REF: 1.1 Square Roots of Perfect Squares
LOC: 9.N5 TOP: NumberKEY: Conceptual Understanding
PTS: 1 DIF:  Moderate REF: 1.1 Square Roots of Perfect Squares
LOC: 9.N5 TOP: NumberKEY: Procedural Knowledge
PTS: 1 DIF:  Easy
REF: 1.2 Square Roots of Non-Perfect Squares LOC: 9.N6
TOP: NumberKEY: Conceptual Understanding
PTS: 1 DIF:  Easy
REF: 1.2 Square Roots of Non-Perfect Squares LOC: 9.N6
TOP: NumberKEY: Conceptual Understanding
PTS: 1 DIF:  Moderate
REF: 1.2 Square Roots of Non-Perfect Squares LOC: 9.N6
TOP: NumberKEY: Procedural Knowledge
- PTS: 1 DIF:  Moderate
REF: 1.2 Square Roots of Non-Perfect Squares LOC: 9.N6
TOP: NumberKEY: Procedural Knowledge
PTS: 1 DIF:  Moderate
REF: 1.2 Square Roots of Non-Perfect Squares LOC: 9.N6
TOP: NumberKEY: Procedural Knowledge
PTS: 1 DIF:  Easy
REF: 1.3 Surface Areas of Objects Made from Right Rectangular Prisms
LOC: 9.8S2 TOP: Shape and Space (3-D Objects and 2-D Shapes)
KEY: Procedural Knowledge
PTS: 1 DIF:  Moderate
REF: 1.3 Surface Areas of Objects Made from Right Rectangular Prisms
LOC: 9.8S2 TOP: Shape and Space (3-D Objects and 2-D Shapes)
KEY: Procedural Knowledge
PTS: 1 DIF:  Easy
REF: 1.4 Surtace Areas of Other Composite Objects  LO 9.882
TOP:  Shape and Space (3-D Objects and 2-D Shapes) KEY: Procedural Knowledge
PTS: 1 DIF:  Easy
REF: 1.4 Surface Areas of Other Composite Objects LOC: 9.SS2
TOP:  Shape and Space (3-D Objects and 2-D Shapes) KEY: Procedural Knowledge
PTS: 1 DIF:  Easy
REF: 1.4 Surface Areas of Other Composite Objects LOC: 9.5S2
TOP:  Shape and Space (3-D Objects and 2-D Shapes) KEY: Procedural Knowledge

Jan 12-12:01 AM
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SHORT ANSWER
ANS:

PEs:
LOC: 9.N5

s: 1
LOC: 9.N5
ANS:

LS
LOC: 9.N5

TS: 1
LOC: 9.N5

N

PES:
LOC: 9.N6

DIF. Easy REF: 1.1 Square Roots of Perfect Squares
TOP: Number KEY: Procedural Knowledge

DIF: Easy REF: 1.1 Square Roots of Perfect Squares
TOP: Number KEY: Procedural Knowledge

DIF: Moderate REF: 1.1 Square Roots of Perfect Squares|
TOP: Number KEY: Procedural Knowledze

a) The length of one side of the gardenis ~f240.25 m_ or
b) The perimeter of the gardenis 4 x 15.5 m,

DIF: Moderate BEF: 1.1 Square Roots of Perfect Squares

TOP: Number KEY: Procedural Knowledge
DIF: Easy REF: 1.2 Square Roots of Non-Perfect Squares
TOP: Number KEY: Procedural Knowledge

Jan 12-12:24 AM

LOC: 9. N6

PTS: 1

LOC: 9852

g
PES: 71

LOC: 9.882

PTS: 1
LOC: 9.5882

Lne surface area of the objectis abou

The length of the hypotenuseis abouw

PTS: 1 DIF: Moderate REF: 1.2 Square Roots of Non-Perfect Squares

LOC: 9.N6 TOP: Number EEY: Procedural Knowledge

The length of side ris abou a.

PTS: 1 DIF: Moderate REF: 1.2 Square Roots of Non-Perfect Squares
TOP: Number EEY: Procedural Knowledge

The surface area of the composite objectis’

DIF: Moderate

REF: 1.3 Surface Areas of Objects Made from Right Rectangular Prisms

TOP: Shape and Space(3-D Objects and 2-D Shapes)

KEY: Procedural Enowledge

DIF: Moderate REF: 1.4 Surface Areas of Other Composite Objects
TOP: Shape and Space (3-D Objects and 2-D Shapes)

EEY: Procedural Knowledge

The surface area of the objectis about .

DIF: Moderate BEF: 1.4 Surface Areas of Other Composite Objects
TOP: Shape and Space (3-D Objects and 2-D Shapes)

EEY: Procedural Knowledge

Jan 12-12:25 AM
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PROBLEM

ANS:
JEATE 73641753 = 3136

PTS: 1 DIF: Moderate BEF: 1.1 Square Roots of Perfect Squares
LOC: 9.N5 TOP: Number EKEEY: Problem-Solving Skills
5:

@+’\;@ ” 9+ 7
~1196 - A 100 14-10

o 40
4
PTS: 1 DIF: Difficult REF: 1.1 Square Roots of Perfect Squares
LOC: 9.N5 TOP: Number KEY: Problem-Solving Skills

ANS: _

ACY = AD® 4+ DC#
=213 41422
= 655.33

AT = 285533
The length of AC is about 25.6 cm.

PTS: 1 DIF: Moderate REF: 1.2 Square Roots of Non-Perfect Squares
LOC: 9.N6 TOP: Number KEY: Problem-Solving Skills

Jan 12-12:28 AM

ANS:
Use the Pythagorean Theorem.

243572672
s2 =670 -35%
52 = 32.64

5= f32.04

B2 =52 a4%
=52.64+ 1936
=52

h= 52

Side sisabout 5.7 cm and side A is about 7.2 cm.

PTS 1 DIF: Difficult REF: 1.2 Square Roots of Non-Perfect Squares
LOC: 9.N6 TOP: Number KEY: Problem-Solving Skills | Communication

Jan 12-12:28 AM
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